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Question Number : 1 Question Id : 2549896238 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Help menu is accessible by pressing which button in
Windows 107?

Options:

1. » End

2. v Start

3. = Turn off
4. = Restart

Question Number : 1 Question Id : 2549896238 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: O

Windows 10 # & o7 T AT 69 Heg ol ST Fehcll

g7

Options:

+

1. « End (U%)

2. v Start (TTE)

3. = Turn off (ce 3iTH)
4. = Restart (IIFere)

Question Number : 2 Question Id : 2549896271 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Ueh TISeT ohl WT: F FT H FTaAT ST &I

Options:




4, = f3a=q

Question Number : 2 Question Id : 2549896271 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0

A file is often referred to as a

Options:

1. » Wizard

2. v Document
3. = Pane

4. = Device

Question Number : 3 Question Id : 2549896307 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0

Uk heged 3N FHF e IUNRIUN o S T sholereld]
ZaRT foRaT STar &

Options:

1. v qIC
2. » g9

3. % 3T / 3 (HO) Rar=g

S [Tt -
4, % halldcdT [SATSH

Question Number : 3 Question Id : 2549896307 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

The connection between a computer and its peripherals is
made through a/an

Options:

1. v port

2. ® bus

3. » I/O device

4. = connecting device

Question Number : 4 Question Id : 2549896348 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0



SAH & Pl Tk o 359 sTal &7

Options:

1. = HASH

2. % 2T Tohid

3. v hIElE
4. = SATsEcH

Question Number : 4 Question Id : 2549896348 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the following is NOT a pointing device?

Options:

1. = Mouse

2. » Touch screen
3. v Keyboard

4. = Joystick

Question Number : 5 Question Id : 2549896432 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

CD-ROM =T qUT &9 7 &7

Options:
1. = hlEdaesa 08 3leTell AART (Compactable Read Only
Memory)

2. = hiFdde ser 5 3faTell AANT (Compact Data Read only
Memory)

3. = hIFUFesd [8€h {18 el AART (Compactable Disk
Read Only Memory)

4, v FHFAFe foeh O 3ol AANT (Compact Disk Read
Only Memory)

Question Number : 5 Question Id : 2549896432 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



CD-ROM stands for:

Options:

1. = Compactable Read Only Memory.
2. » Compact Data Read only Memory.
3. » Compactable Disk Read Only Memory.
4. v Compact Disk Read Only Memory.

Question Number : 6 Question Id : 2549896598 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0

3R ¥ Fid T 3M3cye f3asd =g &7

Options:

1. % AT
2. = T
3. % Tolled

4. v ey

Question Number : 6 Question Id : 2549896598 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which one of the following is NOT an output device?

Options:

1. = Monitor

2. % Printer
3. = Plotter
4., v Digitizer

Question Number : 7 Question Id : 2549896258 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

IR OeeH Maad (3Sdied) 3T ThiaT T

fSEce glel aTel Ay T TEQATS b FYeL ECH FI FATS

HoTdT &l

Options:

1. » FATS-3MART Fo FTHA




2. v GUI
3. » TOEeH geferdn
4. = API

Question Number : 7 Question Id : 2549896258 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

A(n) hase system uses pictures {called icon) and menus
displayed on the screen to send commands to the computer
system.

Options:

1. * Command-based user interface

2. v GUI

3. » System utility

4. = API

Question Number : 8 Question Id : 2549896281 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0

foeT & TTdl 9T oo IE&a & ToIT 3T T ThT & T9ead
FT 3T FL?

Options:

1. = g5 wafeer

2. % Tolagifelsh Trselrerar
3. v Tuseie

4. « d& 3rafer

Question Number : 8 Question Id : 2549896281 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0

What kind of software would you most likely use to keep
track of a billing account?

Options:

1. = Word processing




2. = Electronic publishing
3. v Spreadsheet
4. = Web authoring

Question Number : 9 Question Id : 2549896357 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: O

SIH H Hid AL I8 &l Ucah el o7

Options:

1. = S dgeol
2. v USB
3. *= Hihe
4, = Tl

Question Number : 9 Question Id : 2549896357 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0

Which of the following is NOT a component of a motherboard?

Options:

1. = Bus lines
2. v USB

3. = Sockets
4. = Slots

Question Number : 10 Question Id : 2549896393 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

gclal AT HSHUT 3URIUT @i & ToidAehT 3UAET HNT
ATIT H STeThRT GIaid Fia & foIw foear srar &

Options:

1. v gIB-T5F= U
2. = Folrdr f3Feh
3. = HIST

4, = U 3139




Question Number : 10 Question Id : 2549896393 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

are removable storage devices used to store massive
amounts of information.

Options:

1. v Hard-Disk packs
2. = Floppy Disks

3. % CDs

4. = Pen Drives

Question Number : 11 Question Id : 2549897573 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

ZAH T i T sHyFe WeT &7

Options:

1. = SoFAIHIATeH el
2. % UH eI

3. v T8 TWex
4, %= Zahoic WX

Question Number : 11 Question Id : 2549897573 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the following is an Impact printer?

Options:

1. = Electromagnetic printer

2. » Thermal printer
3. v Line printer
4. = Inkjet printer

Question Number : 12 Question Id : 2549897586 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Wireless Keyboards connect to the computer through
hasic type(s) of connection(s).

Options:



1.+ 3
2. % 2
3.5 4
4. =1

Question Number : 12 Question Id : 2549897586 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

TR HIETE Falererel gfeard v (3f) &
ATEIH & Fgel § Sfgdr gl

Options:

1. v 3
2. % 2
3. = 4
4. % 1

Question Number : 13 Question Id : 2549897301 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Stelc MR BFeH T TR &

Options:

1. = @87 (Windows)
2. = feletra (Linux)

3. v UgIAs (Android)
4. « FF (MAC)

Question Number : 13 Question Id : 2549897301 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Donut is a type of operating system.

Options:

1. * Windows
2. Linux
3. v Android



4. » MAC

Question Number : 14 Question Id : 2549898411 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which function returns the beta cumulative distribution
function in Excel 20077

Options:

1. v BETA.DIST function
2. = BCUMD function

3. = BCDIS function

4. = BETACDIS function

Question Number : 14 Question Id : 2549898411 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Excel 2007 & shlel "7 Hhearelel SicT T9AT [Aa0T HereleT &aT &7

Options:

1. v BETA.DIST thererel
2. * BCUMD thereral
3. * BCDIS werere
4. = BETACDIS Werere

Question Number : 15 Question Id : 2549898666 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MY 3T sheed (OpenOffice Calc) # haeleT Rows(D8) T
T 33cYe g19TT?

Options:

1. ¢ 1

2. % 2
3. = 3
4. = 4

Question Number : 15 Question Id : 2549898666 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 WrongMarks: 0

What will be the output for the function Rows(D8) in an
OpenOffice Calc?

Options:

1.+1
2. % 2
3.3
4 %4

Question Number : 16 Question Id : 2549896284 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

g Rffiee ®IEcl T Uk JAT dTH Fd a&r Thal &7

Options:

1. v 3 R wrest # &
2. = d Ueh &I Blesy H &
3. % Ueh SNGT o1 HulT sTal gr &
4, = 17 AT dilwl & Hiucases aid gl

Question Number : 16 Question Id : 2549896284 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Two different files can have the same name if

Options:

1. v they are in different folders

2. » they are in the same folder
3. = they can never have the same name
4. = the names are capitalised differently

Question Number : 17 Question Id : 2549896528 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Telnet is a:

Options:

1. * Term network
2. » Telephone network



3. v Network protocol
4. = Terrestrial network

Question Number : 17 Question Id : 2549896528 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

cololc T §7

Options:

1. * TH sicdes

2. * Collhlel dcdeh

3. v aicde el

4, » TAAT aicas (Terrestrial network)

Question Number : 18 Question Id : 25498910849 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

FATATAL IIE HTHAANR T ZaNT 3UAET ToRAT ST §

Options:

‘I.Jﬂﬁ(ﬁlﬁ)
2. % Hifdel
3. % HI3H

4, = SIEIT HSROT 3YhLU]

Question Number : 18 Question Id : 25498910849 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

A parallel port is most often used by a:

Options:

1. v printer

2. » monitor

3. ® mouse

4. = external storage device

Question Number : 19 Question Id : 25498911093 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



Which of the following is the NOT a disadvantage of the laser
printer?

Options:

1. = High cartridge cost
2. = Large physical size
3. * Nolsy

4. v Fast printing

Question Number : 19 Question Id : 25498911093 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

et & & Fie A1 oo WX 1 dicisher aRETT 76 &7

Options:

1. % hIfcol HEIT &
2. » §87 HIfd 3R

3. » 3TATel e dTell

4.JﬁGﬁﬁﬂ3‘UT

Question Number : 20 Question Id : 25498913357 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

B B JUIRT e & &0 A UV T87 W Fr
MTEeThdT idT &l

Options:

1. = 3{eSEaror
2. = f3epIsT
3. % TN
4. v TARIET

Question Number : 20 Question Id : 25498913357 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

We need at sender side for compressing image.

Options:




1. = uninstaller
2. » decoder
3. = Installer
4. v encoder

Question Number : 21 Question Id : 25498913769 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Feol e (Tleshele) VedlgA FT IRUMHA (313¢Ye) &

Options:

1. v AFdaEe

2. % 3T8TATT

3. % T ¢oeC

4. = 3

Question Number : 21 Question Id : 25498913769 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

1s the output of encryption algorithm.

Options:

1. v Ciphertext
2. » Abnormal
3. = Plaintext
4. = English

Question Number : 22 Question Id : 2549896318 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

AR UeTol hT &HAT I ATIAT gl




Question Number : 22 Question Id : 2549896318 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

measures the capacity of a communication channel.

Options:

1. = Modem

2. » Width

3. v Bandwidth
4. = Network

Question Number : 23 Question Id : 2549897334 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which file format is used to save MS Office theme?

Options:

1. v thmx
2. » msthm
3. = thm

4. = thms

Question Number : 23 Question Id : 2549897334 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS Office @ &I Hgald & ToIT Fid & WIS HIHC T
39T foRaT SITET 87

Options:

1. v thmx
2. ®* msthm
3. = thm

4. = thms

Question Number : 24 Question Id : 2549898192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



_ UH vEnA § 8 TR 3w MEnH & s med wd
AT Ul hT AT AT IHhT STAhRT & o &
TATUT T T&AT AT &l

Options:

1. = Aol
2. « hHAS

3. v Tallhdal

4. = UG

Question Number : 24 Question Id : 2549898192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

1s a program installed without a user’s consent or
knowledge during the installation of another program.

Options:

1. » Malil

2. » Command
3. v Sneakware
4. = Antivirus

Question Number : 25 Question Id : 2549898211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

% oI I HYEL % ERTeT S T (Bomb

Error) s TTHT FLaT 95 Hehal gl

Options:

1. = Android, 3ToRfeaT
2. v Macintosh, 3ToRfear
3. % Unix, 3ToRfeaT

4. = MS OS, wRATT

Question Number : 25 Question Id : 2549898211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0




The users of may encounter bomb errors when
the computer.

Options:

1. = Android, operating
2. v Macintosh, operating
3. » Unix, operating

4, = MS-0S, formatting

Question Number : 26 Question Id : 2549898358 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

HTelel T ARIAF Toh HE &, ST FY H Gl UF
Hlel UL TTe] FAT &

Options:

1. = §& asX (boot loader)

2. % TeT olisY (boot strap loader)
3. v §¢ dIad (boot sequence)

4. = FESELTAT (bootstrapping)

Question Number : 26 Question Id : 2549898358 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

:-'(%_|:-

A is the initial set of operations that the computer
performs when power Is switched on.
Options:

1. = boot loader

2. = boot strap loader
3. v boot sequence

4. = bootstrapping

Question Number : 27 Question Id : 25498913360 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Sel-TusFael 3TadehdT I 3faeRar 9T ITOTRAT &

Options:



x fopdT off Mrerder
v EUE & O
AECIEFEREERE
% erel TUergel

Question Number : 27 Question Id : 25498913360 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

el
]

Inter-pixel redundancy is based on the redundancy of

Options:

1. = any pixels

2. v neighboring pixels
3. » highlighted pixels
4. = dimmed pixels

Question Number : 28 Question Id : 2549899440 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which one of the following is a non-impact printer?

Options:

1. v Deskjet

2. = Dot-matrix

3. = Character printer
4. = Daisy-wheel

Question Number : 28 Question Id : 2549899440 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

fedaTe@&a A & i OT T dld-3&dde el §7

Options:

1. v SFholC

2. % Ble-Hieag
3. = 37T eT
4. % Soll-cglel



Question Number : 29 Question Id : 25498910801 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

TR & Tel W TG Hlgd Fat F v s e w0 Afed
Hma:wmgﬁﬁwmwﬁmﬁﬁﬁﬁnnwm

Options:

1. = olelr MeT
2. v Hehfadrel et
3. = 3D Mex
4. = O3 frex

Question Number : 29 Question Id : 25498910801 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which printer utilises metal rods with printed characters on
each rod to print text on rolls of paper?

Options:

1. = Laser printer

2. v Mechanical printer
3. » 3D printer

4. = Page printer

Question Number : 30 Question Id : 25498918447 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

foraT e 1 3+ HUT 1 SIT 0T TR
HIdT Bl

Options:

1. » HoI
2. % §IUg

3. v Reiiegere

4. » HiseT

Question Number : 30 Question Id : 25498918447 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 WrongMarks: 0

A printer’s determines the image quality that it prints.

Options:

1. = price

2. » hbrand

3. v resolution
4. = model

Question Number : 31 Question Id : 2549896209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

S-RIAE HUfal T FAT Fla HT AT T &2

Options:

LY

1. » Agcaqul foaeied Ndicd IR e

2. v 5clalc W foead i

3. » [0 o T Ulehar A FEaT 4
4. % FETAT olelce ol Nehis T

Question Number : 31 Question Id : 2549896209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

E-commerce allows companies to:

Options:

1. = issue iImportant business reports.

2. v conduct business over the internet.
3. = support decision making processes.
4. = Keep track of paper based transaction.

Question Number : 32 Question Id : 2549896210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

ST E-Adl I FAT Fad 57

Options:

1. v TOH
2. » FIhH

o,




3. » TR &k

4.%1:':!3

Question Number : 32 Question Id : 2549896210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Junk E-malil is also called a:

Options:

1. v spam
2. = spoof
3. = sniffer script
4, = spool

Question Number : 33 Question Id : 2549896286 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

ST YT IUARThAT STFgHE Fl FIdT &, I T8

ZHRT ¥9 Solcl gl

Options:

1. = wfgT
2. = fehue
3. » 99

4. v BIHC

Question Number : 33 Question Id : 2549896286 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

When computer users a document, they change its
appearance.

Options:

1. = edit
2. % create
3. % save
4. v format



Question Number : 34 Question Id : 2549896635 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

vlaAeeT =T 87

Options:

1. = Uk Yia warge (PowerPoint) Y&
2. v TRET &7 T TUSC HIAC

3. % WI3el BHAC

4, = Uk Taddl (Excel) WSer

Question Number : 34 Question Id : 2549896635 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

What is an animation?

Options:

1. = A PowerPoint presentation

2. v The apparent movement of an object
3. » A file format

4. = An Excel file

Question Number : 35 Question Id : 2549896670 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

TSl BT T hlal o TolT FAT hialT ATGY?

Options:

1. v 37 3 & Ygel H&T o 5 3N [-§1H Yised il IH,
o 3T el TEd &1 ABH W &0 §ea Il o0 IW, U5l
T 3H R h 3 HT N F Toid 31T Fefell =g § 3N
§cal Pl IS 2l

2. = A3 & folohe T¥ST G H AR Fae HT Fufa gemw 301
g W & 9 ol |

3. # A8l & folohe TFST G H AR Far HT Fufa gemw 301
A3 & 15 3N o I dld T [Feleh |




4. « WS & Tolohe T TN H TR Foh T FATT FoA10 3T
A3 o &5 3T dced &l did g ek il

Question Number : 35 Question Id : 2549896670 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

To select a line:

Options:

1. v position the I-beam pointer to the left of the first
character of the text you want to select. Hold down the left
button on the mouse, drag the pointer to the end of the text
you want to select and release the button.

2. = position the arrow pointer in the selection bar adjacent to
the line and click the button twice.

3. » position the arrow pointer in the selection bar adjacent to
the line and click the left mouse button thrice.

4. = position the arrow pointer in the selection bar adjacent to
the line and click the right mouse button thrice.

Question Number : 36 Question Id : 2549897382 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

What is the key combination to delete one word to the right?

Options:

1. » CTRL+BACKSPACE
2. » CTRL+X

3. v CTRL+DELETE

4. « DELETE

Question Number : 36 Question Id : 2549897382 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

arg 3R Uk orse F fAerE & forv Selr wister #4787

Options:

1. = CTRL+BACKSPACE




2. » CTRL+X
3. v CTRL+DELETE
4. = DELETE

Question Number : 37 Question Id : 2549897463 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

MS PowerPoint # TITad &9 & Wiee 3R hl Tl &
forw i"’ﬂ ATSTel T &7

Options:

1.« CTRL + SHIFT + F
2. v CTRL + SHIFT + <
3. = CTRL + SHIFT + D
4. « CTRL + SHIFT + >

Question Number : 37 Question Id : 2549897463 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

What is the key combination to decrease the font size of the
selected text in MS Power Point?

Options:

1. » CTRL + SHIFT + F
2. v CTRL + SHIFT + <
3. = CTRL + SHIFT + D
4.« CTRL + SHIFT + >

Question Number : 38 Question Id : 2549897475 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

What is the key combination to move to the preceding cell in
MS PowerPoint?

Options:

1. » TAB
2. v SHIFT + TAB



3. = CTRL + TAB
4.« ALT + TAB

Question Number : 38 Question Id : 2549897475 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS PowerPointﬁﬂﬁE?ﬁ@ﬂﬁW?ﬁvﬁmw
a7

Options:

1. = TAB

2. v SHIFT + TAB
3. = CTRL + TAB
4. = ALT + TAB

Question Number : 39 Question Id : 2549898047 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

AaR Ted e & folv gaem & ged gfafafaca wr
FEd &l

1.¥a1——cna\—;r

2. ® IS

3. v THAC AT ATThera

4. = g

Question Number : 39 Question Id : 2549898047 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

A visual representation of information to present an idea is
known as:

Options:

1. » Document
2. % Text
3. v Smart Art Graphics



4. = Formulas

Question Number : 40 Question Id : 2549897111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Google talk is often referred to as:

Options:

1. = WeChat

2. = Google Web
3. = Google Store
4. v GChat

Question Number : 40 Question Id : 2549897111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Google Tl I 3RR 7T ¥ H Ted haT ST &7

Options:

1. = WeChat

2. = Google a&
3. = Google T&
4. v GChat

Question Number : 41 Question Id : 2549897423 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

By using which tab can one add Macros in a Word document?

Options:

1. = Edit

2. = Format
3. = Review
4. v View

Question Number : 41 Question Id : 2549897423 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

R &F T 3T Tk g5 STdrdel H HehleT &l SAIST ST
HehdT &7



Options:

1. = Edit
2. ¥ Format
3. = Review

4. v View

Question Number : 42 Question Id : 2549897448 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

MS Word 2010 # Uk g&ddel ol SIS T+l THT Th

AT I56 & I 3 ad & folv GehroT fdeshed T e
FI HAT YSG T Alfoted FAT BT &7

Options:

1. = 1 BEART, 1 WA

2. = 1 "R, .5 dAT

3. v 1.27 G&rdex, 1.27 @A
4, = 1 HEHART, 1.25 TR

Question Number : 42 Question Id : 2549897448 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

What is the margin of a page when narrow option is selected
for top and bottom while printing a document in MS Word
20107

Options:

1. * 1 cm,1 cm

2.*1cm,.5¢cm
3.v1.27cm, 1.27 cm
4, = 1cm, 1.25 cm

Question Number : 43 Question Id : 2549897991 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



TITAHAT sig ARl o 39AEehdrsi & v | (BHIM)
UCoTehersl o Yedsh Thel TIALT (YBTel) W 010 & TR
greir “ " ANSTAT R YT HT|

Options:

1. * %ol Hell ThiA
2. v %chmmﬁ & o her s
3. = JEEIAT hiTd Jlelel

4. = 3TS-TANET Th1A

Question Number : 43 Question Id : 2549897991 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Prime Minister Narendra Modi launched schemes of ™ "
with a reward of 10 on every successful referral of the BHIM
application for users.

Options:

1. = Cool Money Scheme
2. v Cash back for Merchants
3. » Helping Revolution Scheme

4. = iCharity Scheme

Question Number : 44 Question Id : 2549898027 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS Excel & ITC Tehl H 3T UERId hidl & I8l
ek Tk, ST T HTell T Uidfeifded T I

Options:

1. % Fhed
2. v Sdc

3. % olSd
4. = ThH




Question Number : 44 Question Id : 2549898027 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

In MS Excel, chart shows data in rings, where each ring
represents a data series.
Options:

1. = scatter

2. v doughnut
3. = line

4. = surface

Question Number : 45 Question Id : 2549898385 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS Excel # AT faeiarer dffsh @uesh H1 Tlelat
IC1Y gim'lnl gAToTal AT &7

Options:

1. v ALT+F1T

2. = SHIFT+F11
3. = SHIFT+F3
4. = SHIFT+F10

Question Number : 45 Question Id : 2549898385 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

What is the key combination to open the Microsoft Visual
Basic Editor in MS Excel?

Options:

1. v ALT+F11
2. » SHIFT+F11
3. = SHIFT+F3
4. » SHIFT+F10

Question Number : 46 Question Id : 25498910460 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



Select the option that will replace the question mark (?) and
complete the path to capitalise whole text.

Home -> ? -> Change Case -> UPPERCASE

Options:

1. v Font

2. = Paragraph
3. = Styles

4. = Editing

Question Number : 46 Question Id : 25498910460 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

9% faehed Tl S weeT fIgel (?) Y sel dam AT X 916 H
HIUCeTSSl e & [T 920 T T HEM|

gIH > ? -> &y dgel -> TULhd

Options:

1. v Wiee (Font)
2. = YR (Paragraph)

3. = TSl (Styles)
4. = uisfear (Editing)

Question Number : 47 Question Id : 25498913280 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

The in MS Excel is used when there is need of repeating
tasks which can record it and automate those tasks.

Options:

1. = formula
2. % program
3. v macro



4, = module

Question Number : 47 Question Id : 25498913280 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS Excel # FT 3T d fohaT ST & 59 aEde
grel AT HT ITITHRAT aaT & ST 37 NFie FT Fohd & 3T
3o AT I TIATeld Y Tehd B

Options:

1. = WA
2.« Q1A
3. v Her

4. = HAigge

Question Number : 48 Question Id : 25498913296 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Data visualization programs such as business
intelligence software make use of the tool for data
summarization.

Options:

1. » Function
2. = Macros

3. = Chart

4. v PivotTable

Question Number : 48 Question Id : 25498913296 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

3¢T faei3fensaiera WA S fosfaa sefeiela @iFeda 32
9T & folv 3URIOT hT 3T &

Options:

1. % TheFeTel
2. = ey




3. = 9IC
4. v TUgc drfolerT

Question Number : 49 Question Id : 25498910491 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the following options 1s used to make every first
letter of a sentence as a capital?

Options:

1. v Sentence case

2. = Toggle case

3. » Capitalize first letter of table cells
4. = Capitalize names of days

Question Number : 49 Question Id : 25498910491 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

e & Ucdeh Ugol & hl 3T Fla o T [T & @ et
faehedl T 3UAeET foRAT STAT 7

Options:

1. v @i T (Sentence case)

2. % &G ararel (Toggle) &

3. = CITTolhl oh hISGhI o Ugel & I hiuced F
4. » T2 & ATAT I Fiucer &

Question Number : 50 Question Id : 25498910510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Which of the following is true with respect to the page size of
Tabloid?

Options:

1. » 8.57 X 3.97
2. 177 X127
3.v177 X 11"



4 % 857 X 11.5”

Question Number : 50 Question Id : 25498910510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

desellgs o Ul 3TN o Had H Taaadielidd H & hiel AT

FqeT g &7

Options:

1. = 85" X 5.57
2. = 177 X 127
3. v 17 X 117
4. » 85 X 11.57

Question Number : 51 Question Id : 25498918924 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Which of the following shortcuts will enable single-space line
in a paragraph?

Options:

1. » CTRL + L
2.v{TRL +1
3. # CTRL + SHIFT + <
4. % CTRL + 5

Question Number : 51 Question Id : 25498918924 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

eIl # & i AT icehe WNEAME & Fore-T9g oSal i
HETH HII?

Options:

1. = CTRL + L
2. v CTRL + 1
3. » CTRL + SHIFT + <
4. = CTRL + 5




Question Number : 52 Question Id : 25498918930 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

FIES eleehe T TR Tk, 3T TS (CFEe) I e
TIEIUT & hdl AT hial?

Options:

1. = CTRL + J
2. » CTRL + K
3. v CTRL + H
4. = CTRL + N

Question Number : 52 Question Id : 25498918930 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Using keyboard shortcuts, how you will replace text with
different formatting?

Options:
1. = CTRL + ]
2. % CTRL + K
3.vCIRL + H
4.« CTRL + N
READING COMPREHENSION
Section Id : 2549892581
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 1
Number of Questionsto be attempted: 1
Section Marks: 5
Sub-Section Number: 1
Sub-Section 1d: 2549892594
Question Shuffling Allowed : Yes

Question Id : 25498914048 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No



Question Numbers: (53 to 57)

Kabbadi

When I was about fourteen, I graduated into the school of
toughs: I was allowed to join the Kabaddi team.

To play Kabaddi you need stamina, the capacity to hold your
breath, quickness and mastery of the tactics of battle. It is
almost like real warfare.

A line 1s drawn on sand or on soft earth. The two opposing
teams, five to ten or more, stand on either side of this line.

A member of one team crosses the line into the opposing
camp, chanting the magic word ‘Kabaddi, Kabaddi, Kabaddr’,
continuously, without taking a breath. If he is able to touch
one or two boys while still uttering the word ‘Kabaddi’, the
person touched is ‘dead’ and the visitor runs back to his side
of the line.

Then another member from his team crosses the line. But it
may happen that the visitor is caught on the opposite side by
the fellow who is touched, or by someone else from the
opposing team. Then he is said to have ‘died’.

Now a member from the other side goes out to visit the first
team. A team has to ‘kill’ all the members of the opposing
team to win the game. I was too frail to survive long without
being ‘killed’. But I learnt to hold my breath, and developed
some daring skill. I also suffered many blows from those
whom I had offended outside the Kabaddi field. They used the
cover of this game to settle old scores.

Sub questions



Question Number : 53 Question Id : 25498914049 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Why is a Kabbadi team described as a school of toughs'?

Options:
1. v Kabbadi is a very rough game and one has to be
physically very strong and powerful.

2. » Weak team members support other players of their team
to win a match.

3. = Faint-hearted players do not get frightened when badly
injured.

4. = The possibilities of winning a match keep the players
going.

Question Number : 54 Question Id : 25498914050 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of following qualities is NOT required by a Kabbadi
player?

Options:

1. » Stamina and swiftness in movements

2. * Toughness to bear physical discomfort/injury
3. v Mildness and selfishness

4. = Ability to hold one’s breath

Question Number : 55 Question Id : 25498914051 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Why is kabbadi played on sand or soft earth?

Options:

1. = So that the enemy cannot get up when he falls down.

2. » The team members purposely push down the single
raider.

3. » Like wrestling it is a contact game but showing mercy to
the opponents is a must.



4. v There is a lot of pushing and jostling and hence accidents
are frequent.

Question Number : 56 Question Id : 25498914052 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

How many players are there in one team?

Options:

1. v Five to ten or more
2. % Seven

3. = Not below five

4. = Six

Question Number : 57 Question Id : 25498914053 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which team is declared a winner?

Options:

1. = The one which is able to hold their breath the longest.

2. v The one which can tag (KILL) all members of the opposite
party first.

3. * The more aggressive team is declared a winner.

4. = The party which is not exhausted at the end of forty
minutes wins the game.

Question Id : 25498914048 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
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Sub questions

Question Number : 53 Question Id : 25498914049 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Sasst & 1 '(T¢ AT vEe o9 HT EA) Thel 3B F &
T H FAT grotd TRAT AT 87

Options:

1. v Ha33T Uh 980 &6 Tl g 3T TRAT SFfea & aiIiNE
& H g Hdﬂ“dam NIESHICIRIGIRE RS

2. * FHAAN ST & Ty H9 ida & &0 379« a7 & 3T
Rrenfeat &1 FuE Fa £

3. « fasT Eemsr gt awg arel gl W sd 7@l g

4. = Tk T Siida FT GHEAN ezl s SIRr T&dr &

Question Number : 54 Question Id : 25498914050 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

FagsT RSl 2anT farafeli@d & | fohet oM T snaegshar
sTel 87

1. %-?mﬁﬂﬁ?l%ﬁw

2.« I 3giaur e Tge Fa H FORT

3. v HiFegar 3K waredfue

4. % TodT FT AT Thga hr &gAAT

Question Number : 55 Question Id : 25498914051 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

a5l I AT TRA Rl 9 FAT Jell AT &7

Options:

1. = dTfer ST& 98 BT S0 A gRAsT 33T o Fehl
2. = &TH & HeTY Sllelegiend Uehel YTAT Slcleidlel 1 UeFehl

.y




3. = ?ﬁ’?ﬁ'@fdiﬁ TE& Uh Uk Tol § olfched [UTIAT T AT
feamar S &

4. v IET TFHI 3R HeHT T § AT 5T IR-IN gHeATd
gIair &

Question Number : 56 Question Id : 25498914052 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Tk &H # forder emsr ara &7

Options:
1p.@qﬁ”?r@ra'erm3®$
2. = "Td

3. = UTT & AT aAgr
4. = &

Question Number : 57 Question Id : 25498914053 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

TorE &F 1 fasiar @S fehar Srar g7

Options:

1. = G& S 3Tl i I Jad o THI o Thsd H T&TH &l

2. v @& S Ugel [Awlla 9rél & HiT @&t &l &7 (AR)
gehdT Bl

3. = 3T IThTHG SIH hI [aotar D™ g AT Srar &l

4. = S A ATeld HeIE & 37d oo ddhdl slal o, dol dodl &
|

QUANTITATIVE APTITUDE
Section I1d : 2549892582
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory

Number of Questions: 6



Number of Questionsto be attempted: 6

Section Marks: 6
Sub-Section Number: 1
Sub-Section 1d: 2549892595
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498914220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

4 gow 2 fwT F Rl S F1ow w we {1 oI o w4 mRe 4 RE F qu s e § se
5T #14 &1 5 7= 4 faA # 9@ W wES §1 3% 2 W, 4 AR 3T 10 7= 0 @Y FE a6 8
A 77w e e & 90 & '@ 87

Options:

1. v 1=

2. » 3f

Question Number : 58 Question Id : 25498914220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

4 men can complete a piece of work in 2 days. 4 women can complete the same piece of work in 4 days whereas 3
children can complete the same piece of work in 4 days. If 2 men. 4 women and 10 children work together. in how
many davs can the work be completed?

Options:
1. « Lday

2 x 3days

3 x 2days



] » 4days

Question Number : 59 Question Id : 25498914298 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 WrongMarks: 0

FrafadE woaT 37 | 3y || 97 g memmor fr or &) vt 2T e S 39 S 59T § R
fror Rt F ¥ FF wm 7 &

4 —_—

o —— 1"|"J;'
X

oL

A » X =y T FEY FTT AT ST g g

Question Number : 59 Question Id : 25498914298 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 WrongMarks: 0

In the following questions two equations numbered I and II are given. You have to solve both the equations and
choose the correct answer from the options given below.

+ 2 = x

3
Vx o x

g
o
e

=
o
b=
-
=



3 x IFx<y

4.  Ifx=y orthe relationship cannot be established

Question Number : 60 Question Id : 25498914181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

fFrafaflE 799 7 WARET (7) & TUR 97 70 A S0 g AT (WS iE AE e
HIFSTFAT FET &)

J202511 % /256.04 + 399.95 x y7— 33.98 % 40.11

Options:
1. = 1682
2.« 1024
3 % 1582
4 = 678

Question Number : 60 Question Id : 25498914181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

What approximate value will come in place of question mark (?) in the given question?

(You are not expected to calculate the exact value.)

\2025.11 X v256.04 + 1/399.95 x 7= 33.98 x 40.11
Options:

1. = 1682

7 1024



3. % 1582

A = 678

Question Number : 61 Question Id : 25498914332 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

A 3T AR I e R s o R e i s i wEdR
1 FaT T 7

Options:
41
1. = 190
21
2 % 190
59
3. % 190
29
4. « 190

Question Number : 61 Question Id : 25498914332 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

A bag contains 13 white and 7 black balls. Two balls are drawn at random. What is the probability that thev are of the
same colouwr?

Options:
41
1. = 190
21

? % 190



59

3. % 190
99
4 « 190

Question Number : 62 Question Id : 25498914182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

E T FREE IR w e e w L s s Rr A A S v dw a2 = &
B OtwaT B 7 @der Sar &1 I A 9fe 3% 12% Fr 87 ¥ JTYUROT =0T 597 Ot B ufE aw
10% &1 27 & T3l =0T (@T0e T404) a1 ¢ 3fE St Tieant & W g R T 2,805 & ar
IHeh ZEAT Tt A T araer B 7 TRy & 8 = i (wemeT A) Reaer 4

Options:

1 % ¥ 4500
5« 4300
3 x ¥ 4050
4 » 5100

Question Number : 62 Question Id : 25498914182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Shashi had a certain amount of money. He invested 5 of the tofal money in scheme A for 6 vears and rest of the money
he invested in scheme B for 2 years. Scheme A offers simple interest at a rate of 12% p.a, and scheme B offers
componnd interest (componnd anmuallyh ar a rate of 10% p.a. If the total sum obtained from both the schames is

% 2.805. What was the toral amount invested by him in schaime A and Scheme B togaetherXapproximate value)

Options:
1. & T4500

2 % T4200



3. % T4050

A. » T5100

Question Number : 63 Question Id : 25498914336 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

ARBETm wmar R W E I TR IS BinC e sdfism f 0 B & W=
woa £ A it C Tt oo F @ 40 B # 90 o wEa €1 A BT C gEn 3§ e @ aeed S0
Fo # v v R w0 s = i

Options:

. % i 5
2. 8 227
4w Fi 7
4, « 1:5

Question Number : 63 Question Id : 25498914336 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

A and B together can complete a task in 20 days. B and C together can complete the same task in 30 days, A and C
together can complete the same task in 40 days, What is the ratio of the number of days taken bv A when completing the
same task alone to the number of davs faksn by C when completing the same task alone?

Options:
1. = 2:5
2. w 2:7



A 1:5

GENERAL MENTAL ABILITY AND REASONING

Section Id : 2549892583

Section Number : 4

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6
Sub-Section Number: 1
Sub-Section 1d: 2549892596
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 25498910033 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the following words will come second if all of them
are arranged alphabetically as in an English dictionary?

Options:

1. v Leprosy
2. » Lessen

3. = Lesson

4. = Language

Question Number : 64 Question Id : 25498910033 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

afe @lr ereal T Tk eechle F AN TUNThA H cqaed
foram SITaT &, A @Y AT W Hid AT ereg HR?

Options:

1. v Leprosy
2. = Lessen

3. # Lesson



4, = Language

Question Number : 65 Question Id : 25498910121 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

39 [Ohed T T T S A U & 39T Yo & Jaad &
S GET UE Ugel UG & HEidd ¢

giEATIT 3T : ToRTeldT o Ueel @ 7

Options:

1. = 9dell
x HoTed

2. R
3. % 3aTdeh
4. v 3eTard

Question Number : 65 Question Id : 25498910121 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Select the option that is related to the third term in the same
way as the second term is related to the first term.

Insert : Extract :: Mighty : ?

Options:

1. = Thin
2. % Strong
3. = Frail
4. v Feeble

Question Number : 66 Question Id : 25498912832 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



frafafad saeer & «OeYEas 9¢ 3 38 o & o
T9sT T 3cdd o
WIR%Y4JE#7MT219BH3ASOSFQSL5DG
6USP

3T SIAEAT o IR 9 T2aT Eal (?) & T 9T F1
3RIT?

R4#M2B3%Q7

Options:

1.« 5 G U
2.« D6 S
3.« 5GS
4. vD 6 P

Question Number : 66 Question Id : 25498912832 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Instruction: Study the following arrangement carefully and
answer the question given below.
WIR%BAJEZ#TMT219BH3AS$9FQSDGG6USP

Question: What should come in place of the question mark on
the basis of the above arrangement?
RA4#EMZB3$Q7?

Options:

1. 5GU
2.« D6BS
3.=5G8S
4. vDG6P



Question Number : 67 Question Id : 25498912890 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Select the letter-series in which the number of letters skipped
in between the adjacent letters in the series are multiples of 3.

Options:

1. v AELPZ
2. » DHLPU
3. = GKOTZ
4. » LORUX

Question Number : 67 Question Id : 25498912890 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

IETT- T T TAeT H [STHH AT H ool AR & &
H B2 IV 378 kT T&AT SQ?FFUWJ -y
Options:

1. v AELPZ
2. = DHLPU
3. = GKOTZ
4. = LORUX

Question Number : 68 Question Id : 25498919026 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

@ & @ a7 &g, amer 3 Mg J49r &1 §7

Options:

1. = 3T

2. % HEhIeY
3. v Hidc
4. = HIT

Question Number : 68 Question Id : 25498919026 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the following is the same as Ode, Ballad, and Lyric?



Options:

1. = Prose
2. = Epic

3. v Sonnet
4. » Precis

Question Number : 69 Question Id : 25498919858 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Four words have been given out of which three are alike in
some manner and one is different. Select the odd one.

Options:

1. = Japan

2. v India

3. = Sri Lanka

4. v New Zealand

Note: For this question, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct
options ar e chosen.

Question Number : 69 Question Id : 25498919858 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

AN oG T80 a0 &, ToaH & dieT esg Tohar dileh 8 Teh-
HHTS 3[0T dTel & offehal i orse feer 1 3ad fHea (3if3

del) €Tsg hT YT o9MT|

Options:

1. = SIT9Tel

2. v IRd
3. % HTelenl
4.%@@?‘?

Note: For thisquestion, ambiguity isfound in question/answer. Candidate will get full marksfor this question if any of the correct
options are chosen.
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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6
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Question Number : 70 Question Id : 2549895232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

faeg =amIR @Iaa (WTO) &7 916 & TehdT AT AT?

Options:

1. = 1991
2. v 1995
3. = 1997
4. = 1999

Question Number : 70 Question Id : 2549895232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

The World Trade Organisation (WTO) was formed in the year:

Options:

1. = 1991
2. v 1995
3. = 1997
4. = 1999

Question Number : 71 Question Id : 2549895280 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

feateTaT A & fordel TEFd STR0T o Em om?

Options:

1. = hiTelard
2. % TIILh




3. v Triorfer
4. = AT

Question Number : 71 Question Id : 2549895280 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Who among the following wrote Sanskrit Grammar?

Options:

1. = Kalidasa
2. » Charaka
3. v Panini

4, = Aryabhatt

Question Number : 72 Question Id : 2549895470 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

few av TR ya 3T FROT Fr e & TS 3w A= e 9w

[ et
el [ered T 9ga HY)

IR (A) : TR AT TTHI H[HR SIUAT LT I
3TOMRT-3760T h1E Fehal § 3 303 sk AT T Warg o 3o¢
I # S8 Thd gl

FRUT (R) : ulatrdi-Uesicaieavst 3T Sivav amsds &
YT FT AT F ST T DISIS FT ST Thall B

1. v A 3R OCR A8 E gur R - A @8 s ¥
2w A 3 R Qe @R E afee R A T O sarear wa

3. = ‘A’ Ogr & dfpaT ‘R’ 91T &
4. = ‘A’ Ieid g olfohel ‘R’ Tl &

Question Number : 72 Question Id : 2549895470 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



Read the given Assertion and Reason carefully and select the
correct option below.

Assertion (A) : Scientists can cut apart and paste together DNA
molecules at will, regardless of the source of molecules.
Reason (R) : DNA fragments can be manipulated using
restriction endonucleases and DNA ligases.

Options:
1. v Both A and R are true and R is the correct explanation of
A

2. = Both A and R are true but R 1s NOT a correct explanation
of A

3. = Alstrue but R is false
4, = A is false but R is true

Question Number : 73 Question Id : 2549899804 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

farafaf@d & @ Sl @ gedw ‘Samell dererfehc HT srgael &
dATH & o7 1T §7

Options:

1. = JdTellel
2. v 3¢l A
3. = odad
4, = INT

Question Number : 73 Question Id : 2549899804 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Which of the following books was known as the ‘Bible of
Bengali Patriotism’?

Options:

1. = Geetanjall




2. v Anand Math
3. = Devdas
4. = Gora

Question Number : 74 Question Id : 2549895586 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Match List-I and List-1II to select the correct answer from the
given options.

List-1 List-1I

A. Vitamin 1. Pepsin

B. Enzyme 2. Carotene

C. Hormone 3. Keratin

D. protein 4. Progesterone
Options:

1. = A-1, B-2, C-3, D4,
2.v A-2,B-1, C-4, D-3
3.= A-2,B-1, (-3, D4
4. = A-1, B-2, C-4, D-3

Question Number : 74 Question Id : 2549895586 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



R dUafi o eI g s s g gal- I AR gd- IT &1 B &

gdi-I gal-II
A. faafim 1. 9
B. UdiEH 2. BCH
C. s 3. daifes
D. WidH 4. URREH

Options:

1. = A-1, B-2, C-3, D4,
2. v A-2, B-1, C-4, D-3
3. = A2, B-1, C-3, D4
4. = A-1, B-2, C-4, D-3

Question Number : 75 Question Id : 2549899822 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Which of the following places was assoclated with Acharya
Vinoba Bhave’s Bhoodan Movement at the beginning of the
movement?

Options:

1. = Udaygiri

2. » Ralpur

3. v Pochampalli
4. = Venkatgiri

Question Number : 75 Question Id : 2549899822 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

farafeli@d A & Sl AT ST 3MeTolel T ABIATT H
[EGIEIEIC N G I G G SE] g‘é’ ofy?




Options:

1. = 3R
2. % TP
3. v NSTHYeT
4, % dpciINT

Mock
Group Number : 2
Group Id: 2549891945
Group Maximum Duration : 5
Group Minimum Duration : 5
Show Attended Group? : No
Edit Attended Group? : No
Break time: 1
Mandatory Break time: Yes
Group Marks: 0
Isthis Group for Examiner?: No
English Typing Test
Section Id : 2549892585
Section Number : 1
Section type: Typing Test
Mandatory or Optional: Mandatory
Number of Questions; 1
Number of Questionsto be attempted: 1
Section Marks: 0
Sub-Section Number: 1
Sub-Section 1d: 2549892598
Question Shuffling Allowed : No

Question Number : 76 Question Id : 25498927122 Question Type: TYPING TEST

Summer camps are supervised camps conducted to entertain
as well as equip students with various life skills such as
teamwork, socializing, decision making, independent and
responsible living and more. It aids the overall development
of a child and children have fun during this process as they
get to explore new arenas.
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We all have hieard iU many Limes hal regular exercise 5 pood
Lor wonn and iU can help you lose weaighl. T gel lons of benalils,
you should Ley o do the recommended exercises according lo
yvour age. 10 yow can do it then e payoll is Lhal you will Ceel
betler which will help proevent or conteol many dizeases and
likely cwon live longer. Listed Delow are somme hoalth bonelits
that doing cxercise can give you and here ace thoy. Tt can help
you control your weirht, Along with dict, cxercisc plays an
important role i controling your weight and proventing
chsity, To maintain your weight the calories you eart and
drink must be equal to the energy vou burn, Likewdise if you
want to lose your welght then yoeu should have rmore calories
than you eat and drink, Reduce your risk of heart diseases,
Exercise strengthens youl heart and lmproves your
clreulation. The increased hlood Dow raises the oxygan levels
in your body. This helps 1o the risk of heart diseases such as
high cholesteral, coronary avlery disease, and hearl allacl:.
Help your body manage blood sugar and insulin levels.
Exercize can lower your blood sugar level and help your
insulin work beller. This can also cul down your risk lor
ralabolic syndrome and typo bwo diaboles. And i0you
already have one of those diseases (hen oRercist can holpoyou
o manage it TTelp you quit smoking. TRercise may maake it
COsier to quit smoking by reducing vour cravings and
withdrawal sympterns, It can also help to limnit the weight you
might gain when you stop smeking, Improve your mental
health and mood. During exercise, your lody releases
chelmicals that can improve your meod and make you feel
more relaged This can help you deal with stress and reduce
your risk of depresslen. Keap your thinldng, learning, and
judgment skills sharp as your age. Exercise stimulates your
bidy 1o release proteins and other chemicals al improve the
slrwcture and funclion of your brain, Strenglthen your Bones
ard muscles. Regular exercise can halp kids and Leens build
slrong bones. Laler in life, L can also slow e Toss ol booe
doenasily thal comes wilh ago. Doing muscle slrengl hening
activities can helpy you inceease or mainlain your muscle
mass and strength. Reduce vour risk ol some cancers,
including colon, breast, uterine, and lung cancer, Reduce your
risk of falls. For older adults, rescarch shows that doing
halance and rmuscle strengrheninge activities in addition to
moederate-intensity acrobic activity can help reduce your risk
of falling, Improve your sexnal health, Repular exercise may
lowrer the risk of erectile dysfunction in mei. For those whe
already have ED, exercise may help improve thelr sexual
funetlon. In women, exercise may ncrease sexuwal arousal.
Increase your chances of living longer. Studies show that
physical aclivily can reduce your risk of dying early Crom the
leading causes ol death, like heavl disease and some cancers.
50, plan [or the long lenm lile nol for the shoel lerm and do
Ibies things hal can work in the avor of your heallls
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